
The strange man

He's a very strange man.
He's short and tall.
He's a very strange man.
He's got fair and dark hair.
He's a very strange man.
He's got blue and black eyes.
Another man like him doesn't exist.
Another man like him doesn't exist. 

Retrouve la correspondance de «     he's     » : «     he is     » ou «     he has     » ?  
Entoure la bonne réponse : 

He's a very strange man. He is a very strange man. He has a very strange man.
He's short and tall. He is short and tall. He has short and tall.
He's got fair and dark hair. He is got fair and dark hair. He has got fair and dark 

hair.
He's got blue and black 
eyes.

He is got blue and black 
eyes.

He has got blue and black 
eyes.

Colorie ce personnage et écris quelques phrases pour dire comment il est.

A retenir : he is : il est
                 he has got : il a


